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Ideals for irreducible component#ﬂ)f Xpar

If:<u36—u35+~-~—u2+1>

* 1 irreducible components of dim¢ = 0, with total 36 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI=(u—u?®+... —u?+4+1)

(i) Arc colorings

w= (3)

0
ag = u
1
a4 = —u?
—u
ag —_ u
w3
ayg = (—u3 + u)
—u3
a7 = w —ud 4 u
wdb—ut+1
as = \ —y8 4+ 2u8 — 2u*
—utt 424 — 207 — B
a6 = \u't —3u +4u”" —u® —ud 4+ u
wl? — 407 + 8utd — 8ul3 + Hull — 20 + 207 + P
a1 = \ —u 4+ 5417 — 120! + 156! — 9ult —u® +4u” — 2u5 —uP +u
—u3 +8ud -+ 20 —w
a2: u35_9u33+..._u3+u
(ii) Obstruction class = —1

(iii) Cusp Shapes

= — 435 +40u33 — 4u3? — 19203 + 36130 + 564u2° — 156u® — 1092027 + 412126 +1380u° —
712u?* — 980u?3 + 792u2? + 16u?! — 480620 + 732u'® — 16u'8 — 680u!” +280u'6 + 112! —
188wt +272u? — 12012 — 216wt + 80u'0 — 3618 + 80u” — 8ub — 32u® + 8ut — 4u> +8u+2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Cs R T A |
€2 w3+ 19u 4+ 2u+ 1
c3,C8 ud — P4 w41
Cq4,C7 wl—3uP . —22u+5
Cg, C10 w4+ 3P+ 422045
Co w3 —19u® + - —2u+ 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C3,C5 y36—19y35+~-~—2y+1
Cs
C2,Co y = 3yP 2y 41
C4, Ce, C7 y36+25y35+..._ 154y + 25
€10




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1 (vol + y=1CS)

Cusp shape

0.805609 + 0.5859261

—5.78512 + 6.608991

—5.22618 — 6.990031

0.805609 — 0.5859261

—5.78512 — 6.608991

—5.22618 + 6.990031

—0.973666 +- 0.3425601

— 3.753011

0. +6.736641

—0.973666 — 0.3425601

3.753011

0. — 6.736641

—0.771553 + 0.5504371

—2.48653 — 2.210401

—2.18679 + 3.720551

—0.771553 — 0.5504371

—2.48653 + 2.210401

—2.18679 — 3.720551

0.733643 + 0.5922841

—5.99129 — 1.965541

—6.00564 + 0.227371

0.733643 — 0.5922841

—5.99129 + 1.965541

—6.00564 — 0.227371

0.879174 + 0.1032221

1.48890 + 0.273071

6.50261 — 0.380041

0.879174 — 0.1032221

1.48890 — 0.273071

6.50261 + 0.380041

—1.079360 +- 0.3311841

— 3.707941

0. +4.786651

—1.079360 — 0.3311841

3.707941

0. —4.786651

0.193860 + 0.7877571

—2.88545 — 7.724721

—3.24945 + 5.619031

0.193860 — 0.7877571

—2.88545 + 7.724721

—3.24945 — 5.619031

1.169940 + 0.3677591

3.90881 + 0.644001

5.19682 — 0.848781

1.169940 — 0.3677591

3.90881 — 0.644001

5.19682 + 0.848781

—0.176866 + 0.7516091

2.996471

0. —2.490601

—0.176866 — 0.7516091

—2.996471

0. + 2.490601

0.241156 + 0.7254081

—3.90881 + 0.644001

—5.19682 — 0.848781

0.241156 — 0.7254081

—3.90881 — 0.644001

—5.19682 + 0.848781

—1.188280 +- 0.3422831

1.27958 + 4.071351

1.88452 — 2.881191

—1.188280 — 0.3422831

1.27958 — 4.071351

1.88452 + 2.881191

—0.038116 + 0.7436331

2.48653 + 2.210401

2.18679 — 3.720551

= —0.038116 — 0.7436331

2.48653 — 2.210401

2.18679 + 3.720551

1.143830 + 0.5210701

—1.27958 + 4.071351

—1.88452 — 2.881191

1.143830 — 0.5210701

—1.27958 — 4.071351

—1.88452 + 2.881191

1.184710 + 0.4340811

5.99129 + 1.965541

6.00564 — 0.227371

1.184710 — 0.4340811

5.99129 — 1.965541

6.00564 + 0.227371

—1.184420 4 0.4632181

5.78512 — 6.608991

5.22618 + 6.990031

Sle|e|f|f|g|g|e|g|2 || (g|e|g|g |2 |e|g|g|g|g|f|g|g|g|g|g|ge |

—1.184420 — 0.4632181

5.78512 + 6.608991

5.22618 — 6.990031




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

= —0.446315 + 0.4122271

—1.48890 + 0.273071

—6.50261 — 0.380041

—0.446315 — 0.4122271

—1.48890 — 0.273071

u = —1.168380 + 0.5133461 2.88545 — 7.724721 3.24945 + 5.619031

u = —1.168380 — 0.5133461 2.88545 4 7.724721 3.24945 — 5.619031
u= 1175040 + 0.5269451 12.60261 0. —8.811461
u= 1175040 — 0.5269451 —12.60261 0.+ 8.811461
U

U

—6.50261 + 0.380041




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,65 WU+ w41
c2 u?S + 19u® 4 4 2u+ 1
C3,C8 R R T o |
c4,Cr w3t —3u 4+ —22u+5
Cg, C10 u + 3P+ 422045
9 w3 —19u 4+ —2u+1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,€3,C5 y3 — 19y 4+ —2y 41
cs8
€2, Cy Y =3y 42y + 1
e y*0 +25y% + - — 154y + 25
€10




